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ONEBecause of shortage of space, employees have put heavy boxes

near fire doors. There should be access to fire doors as workers must

leave the building quickly if there is a fire. Fire doors should be

unblocked and obstructions removed.(40words)PART TWO This

year the company has made a profit of RMB67 million compared

with RMB33million last year. This profit has result largely from a

reduction of RMB27 million in expenditure, achieved because of two

factors. first, the lower cost of raw materials and secondly more

efficient methods of production. Moreover, although sales in the

home market have fallen, international sales have more than

compensated for this fall. It is thought that sales in the home market

have been poor because of the difficult economic situation in our

country. In view of this, it is recommended that the company tries to

identify more markets abroad and increase its exports.(108worsds)
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